

RENDICONTI  
*del*  
SEMINARIO MATEMATICO  
*della*  
UNIVERSITÀ DI PADOVA

FILIPPO CHIARENZA

RAUL SERAPIONI

**A remark on a Harnack inequality for degenerate  
parabolic equations**

*Rendiconti del Seminario Matematico della Università di Padova,*  
tome 73 (1985), p. 179-190

[http://www.numdam.org/item?id=RSMUP\\_1985\\_\\_73\\_\\_179\\_0](http://www.numdam.org/item?id=RSMUP_1985__73__179_0)

© Rendiconti del Seminario Matematico della Università di Padova, 1985, tous droits réservés.

L'accès aux archives de la revue « Rendiconti del Seminario Matematico della Università di Padova » (<http://rendiconti.math.unipd.it/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme  
Numérisation de documents anciens mathématiques

<http://www.numdam.org/>

## A Remark on a Harnack Inequality for Degenerate Parabolic Equations.

FILIPPO CHIARENZA (\*) - RAUL SERAPIONI (\*)

### 0. Introduction.

We study in a cylinder  $Q = \Omega \times ]0, T[$  ( $\Omega$  bounded open set in  $\mathbf{R}^n$ ,  $n \geq 3$ ) the degenerate parabolic equation

$$(0.1) \quad \sum_{i,j=1}^n \frac{\partial}{\partial x_j} \left( a_{ij}(x) \frac{\partial u}{\partial x_i} \right) = \frac{\partial}{\partial t} (w(x)u)$$

with the assumption

$$(0.2) \quad \lambda^{-1} w(x) |\xi|^2 \leq \sum_{i,j=1}^n a_{ij}(x) \xi_i \xi_j \leq \lambda w(x) |\xi|^2, \quad \forall \xi \in \mathbf{R}^n, \text{ a.e. in } Q$$

where  $w(x) \geq 0$  is an  $A_2$  weight in  $\mathbf{R}^n$  (see sec. 1 for the definition).

We prove a Harnack principle for positive solutions of (0.1) on the usual parabolic cylinders of size  $(\varrho, \varrho^2)$  (see sect. 2 for precise statements).

(\*) Indirizzo degli AA.: F. CHIARENZA: Seminario Matematico, Università di Catania, V.le A. Doria 6, 95125 Catania, Italy; R. SERAPIONI: Dipartimento di Matematica, Università di Trento, 38050 Povo (TN), Italy.

Our interest for this problem arose while studying the equation

$$(0.3) \quad \sum_{i,j=1}^n \frac{\partial}{\partial x_j} \left( a_{ij}(x) \frac{\partial u}{\partial x_i} \right) = \frac{\partial u}{\partial t}$$

with hypotheses (0.2).

In fact in [C.S<sub>1</sub>] we gave examples showing that a Harnack principle for positive solutions of (0.3) is in general false, at least on the standard parabolic cylinders of size  $(\varrho, \varrho^2)$ .

Moreover in [C.S<sub>2</sub>] we proved that a more general Harnack principle holds true for positive solutions of (0.3) but only under integrability hypotheses on  $[w(x)]^{-1}$  stronger than the ones necessary for degenerate elliptic equations (and depending on the space dimension  $n$ ).

This Harnack principle holds on cylinders of size  $(\varrho, \varphi(\varrho))$ , where  $\varphi(\varrho)$  (a continuous, strictly increasing function) is, in general, different from  $\varrho^2$  and varies from point to point depending on the degeneracy of the weight  $w(x)$ .

In conclusion the results in [C.S<sub>1</sub>] and [C.S<sub>2</sub>] show the different behaviour of parabolic degenerate operators like (0.3) if compared both to the corresponding degenerate elliptic operators (as studied in [F.K.S.]) and to the usual non degenerate parabolic operators.

Given this we considered somewhat interesting to point that equation (0.1) on the contrary presents a « perfectly normal » behaviour; in fact the main result of this paper is that a Harnack inequality holds for solutions of (0.1)

- (i) on the standard parabolic cylinders;
- (ii) with only the  $A_2$  condition on  $w(x)$ .

Moreover it is interesting to remark that parabolic degenerate equations with also a non negative coefficient in front of the time derivative are more natural from the physical point of view than equations like (0.3). There are in fact two relevant physical quantities in heat diffusion processes: the conductivity coefficient and the specific heat; precisely this last one appears in the equation in front of the time derivative.

Finally we point out that a number of papers have been devoted to the study of equations like (0.1) but in non divergence form (see e.g. [F.W.], [W<sub>1</sub>], [W<sub>2</sub>]) and that a preliminary study concerning the local boundedness of the solutions of (0.1) can be found in [Ch.F].

Since the pattern of the proof follows closely Moser's proof in

[M<sub>2</sub>] we have just sketched the proofs, stressing only some parts in which the presence of the weights originates some technical difficulties.

### 1. Notations. Some preliminary results.

We will say that a real, non negative, measurable function defined in  $\mathbf{R}^n$  is an  $A_2$  weight, if:

$$\sup_C \left( \frac{1}{|C|} \int_C w(x) dx \right) \left( \frac{1}{|C|} \int_C \frac{1}{w(x)} dx \right) = c_0 < +\infty$$

where  $C$  is any  $n$ -dimensional cube and  $|C|$  is the Lebesgue measure of  $C$ .  $c_0$  will be indicated as the  $A_2$  constant of  $w(x)$ .

Let  $\Omega$  be an open bounded set in  $\mathbf{R}^m (m \geq 3)$ ,  $T > 0$  and  $Q = \Omega \times ]0, T[$ .

$L^p(\Omega, w(x)) (1 \leq p \leq +\infty)$  is the Banach space of the (classes of) measurable functions  $u(x)$  s.t. the norm

$$\|u\|_{p, w; \Omega} = \left( \int_{\Omega} |u(x)|^p w(x) dx \right)^{1/p} < +\infty$$

$H^1(\Omega, w(x))$  [resp.  $H_0^1(\Omega, w(x))$ ] is the completion of  $C^\infty(\bar{\Omega})$  [resp.  $C_0^\infty(\Omega)$ ] under the norm

$$\|u\|_{1, w; \Omega} = \left( \int_{\Omega} (u^2(x) + |Du|^2) w(x) dx \right)^{\frac{1}{2}}$$

[resp.  $\|u\|_{1, w; \Omega} = \left( \int_{\Omega} |Du|^2 w dx \right)^{\frac{1}{2}}$ ]; here  $Du$  is the gradient of  $u$ .

$$W = \left\{ u \in L^2(0, T; H_0^1(\Omega, w(x))) : u_t \in L^2(0, T; L^2(\Omega, w(x))) \right\}.$$

Let us now state some lemmas we will use in the following. Here we suppose  $w(x)$  to be an  $A_2$  weight with  $A_2$  constant  $c_0$ .

LEMMA 1.1 (see [F.K.S.], Th. 1.2). *There are two positive constant  $c_1$  and  $\delta$  such that*

$$(1.2) \quad \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |u|^{2k} w(x) dx \right)^{1/2k} \leq \\ \leq c_1 R \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |Du|^2 w(x) dx \right)^{\frac{1}{2}} \quad (1),$$

for all  $u \in H_0^1(B_{x_0}(R), w(x))$  and  $k \in [1, \chi]$  ( $\chi = n/(n-1) + \delta$ ); here  $c_1$  depends only on  $n$  and  $c_0$ .

LEMMA 1.2. *Let  $u \in L^\infty(a, b; L^2(B_{x_0}(R), w(x))) \cap L^2(a, b; H_0^1(B_{x_0}(R), w(x)))$ . Then*

$$(1.3) \quad \left( \frac{1}{b-a} \int_a^b \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |u|^{2\bar{\chi}} w(x) dx dt \right)^{1/2\bar{\chi}} \leq \\ \leq (c_1 R)^{1/\bar{\chi}} \left[ \text{ess sup}_{(a,b)} \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} u^2(x, t) w(x) dx \right)^{\frac{1}{2}} \right]^{1-1/\bar{\chi}} \cdot \\ \cdot \left( \frac{1}{b-a} \int_a^b \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |Du|^2 w(x) dx dt \right)^{1/\bar{\chi}}$$

where  $\bar{\chi} = (2\chi - 1)/\chi > 1$  ( $\chi$  is the number of Lemma 1.1), the constant  $c_1$  depend only on  $n$  and  $c_0$ .

The proof is a straightforward consequence of Lemma 1.1.

LEMMA 1.3. *Let  $\varphi(x)$  be a continuous function compactly supported in the ball  $B_{x_0}(R)$  of  $\mathbf{R}^n$ . Assume that  $\varphi$  has convex level sets, that  $\varphi$  is not identically zero and satisfies  $0 \leq \varphi \leq 1$ . Then for any  $u \in H^1(B_{x_0}(R))$ ,*

(1) Here and in the following

$$B_{x_0}(R) = \{x \in \mathbf{R}^n : |x - x_0| < R\}, \quad w(B_{x_0}(R)) = \int_{B_{x_0}(R)} w(x) dx.$$

$w(x)$

$$(1.4) \quad \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} (u(x) - A_{B_{x_0}(R)})^2 \varphi(x) w(x) dx \right)^{\frac{1}{2}} \leq \\ \leq c_2 \frac{|B_{x_0}(R)|}{\varphi(B_{x_0}(R))} R \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |Du|^2 \varphi(x) w(x) dx \right)^{\frac{1}{2}};$$

here

$$A_{B_{x_0}(R)} = \frac{1}{\varphi w(B_{x_0}(R))} \int_{B_{x_0}(R)} u(x) \varphi(x) w(x) dx$$

and  $c_2$  depends only on  $n$  and  $c_0$  <sup>(2)</sup>.

PROOF. The following inequality holds:

$$|u(x) - \tilde{A}_{B_{x_0}(R)}| \sqrt{\varphi(x)} \leq c \frac{|B_{x_0}(R)|}{\varphi(B_{x_0}(R))} \int_{B_{x_0}(R)} \frac{|Du(z)|}{|z-x|^{n-1}} \sqrt{\varphi(z)} dz.$$

Here,

$$\tilde{A}_{B_{x_0}(R)} = \frac{1}{\varphi(B_{x_0}(R))} \int_{B_{x_0}(R)} u(x) \varphi(x) dx.$$

The proof can be found in [C.S<sub>2</sub>] ((2.7) of Lemma 2.4). Furthermore

$$\left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} \left( \int_{B_{x_0}(R)} \frac{|Du(z)|}{|x-z|^{n-1}} \sqrt{\varphi(z)} dz \right)^{2\alpha} w(x) dx \right)^{1/2\alpha} \\ \leq cR \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |Du|^2 \varphi(x) w(x) dx \right)^{\frac{1}{2}}$$

(see [F.K.S.] the proof of Theorem 1.2).

From these it follows

$$\left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |u(x) - \tilde{A}_{B_{x_0}(R)}|^{2\alpha} \sqrt{\varphi(x)}^{2\alpha} w(x) dx \right)^{1/2\alpha} \leq \\ \leq c \frac{|B_{x_0}(R)|}{\varphi(B_{x_0}(R))} R \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |Du|^2 \varphi(x) w(x) dx \right)^{\frac{1}{2}},$$

<sup>(2)</sup> For the meaning of  $\varphi(B(R))$  and  $\varphi w(B(R))$  see <sup>(1)</sup>.

so that:

$$\begin{aligned} \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} (u(x) - \tilde{A}_{B_{x_0}(R)})^2 \varphi(x) w(x) dx \right)^{\frac{1}{2}} &\leq \\ &\leq c \frac{|B_{x_0}(R)|}{\varphi(B_{x_0}(R))} R \left( \frac{1}{w(B_{x_0}(R))} \int_{B_{x_0}(R)} |Du|^2 \varphi(x) w(x) dx \right)^{\frac{1}{2}} \end{aligned}$$

Finally one can replace  $\tilde{A}_{B_{x_0}(R)}$  with  $A_{B_{x_0}(R)}$  as in the conclusion of Th. 1.5 of [F.K.S.].

REMARK 1.1. Another property of the  $A_2$  weights we will use frequently is the « doubling property » ([Co.F.]). That is

$$\exists d = d(c_0, n) > 0: \quad \forall x_0 \in \mathbf{R}^n, \quad \forall r > 0 \quad w(B_{x_0}(2R)) \leq d w(B_{x_0}(R)).$$

## 2. The Harnack inequality.

Let us consider in  $Q$  (see n. 1), the degenerate parabolic equation:

$$(2.1) \quad \sum_{j=1}^n \frac{\partial}{\partial x_j} \left( \sum_{i=1}^n a_{ij}(x) \frac{\partial u}{\partial x_i} \right) - \frac{\partial}{\partial t} (w(x)u) = 0.$$

We assume that the coefficients  $a_{ij}(x)$  are measurable functions a.e. defined in  $Q$  such that

$$(2.2) \quad \begin{cases} a_{ij}(x) = a_{ji}(x) & i, j = 1, \dots, n \\ \exists \lambda > 0: \frac{1}{\lambda} w(x) |\xi|^2 \leq \sum_{i,j=1}^n a_{ij}(x) \xi_i \xi_j \leq \lambda w(x) |\xi|^2, \end{cases} \quad \text{a.e. in } \Omega, \forall \xi \in \mathbf{R}^n$$

where  $w(x)$  is an  $A_2$  weight in  $\mathbf{R}^n$  with  $A_2$  constant  $c_0$ .

DEFINITION 2.1. We say that  $u(x, t) \in L^2(0, T; H^1(\Omega, w(x)))$  is a solution of (2.1) in  $Q$  if:

$$(2.3) \quad \int_Q \left\{ \sum_{i,j=1}^n a_{ij}(x) \frac{\partial u}{\partial x_i} \frac{\partial \varphi}{\partial x_j} - w(x) u \frac{\partial \varphi}{\partial t} \right\} dx dt = 0$$

$$\forall \varphi \in W, \quad \varphi(0) = \varphi(T) = 0.$$

Before stating our main result we introduce some further symbols.

Let  $(x_0, t_0) \in Q$ ,  $\varrho > 0$ . We put:

$$D_{x_0, t_0}(\varrho) = \{(x, t) \in Q: |t - t_0| < \varrho^2, |x - x_0| < 2\varrho\}$$

$$D_{x_0, t_0}^+(\varrho) = \{(x, t) \in Q: t_0 + \frac{3}{4}\varrho^2 < t < t_0 + \varrho^2, |x - x_0| < \frac{1}{2}\varrho\}$$

$$D_{x_0, t_0}^-(\varrho) = \{(x, t) \in Q: t_0 - \frac{3}{4}\varrho^2 < t < t_0 - \frac{1}{4}\varrho^2, |x - x_0| < \frac{1}{2}\varrho\}$$

$$R_{x_0, t_0}(\varrho) = B_{x_0}(\varrho) \times ]t_0 - \varrho^2, t_0 + \varrho^2[;$$

$$R_{x_0, t_0}^+(\varrho) = B_{x_0}(\varrho) \times ]t_0, t_0 + \varrho^2[;$$

$$R_{x_0, t_0}^-(\varrho) = B_{x_0}(\varrho) \times ]t_0 - \varrho^2, t_0[$$

Finally:

$$R(\varrho) = R_{0,0}(\varrho), \quad R^+(\varrho) = R_{0,0}^+(\varrho), \quad R^-(\varrho) = R_{0,0}^-(\varrho).$$

**THEOREM 2.1** (Harnack inequality). *Let  $u(x, t)$  be a positive solution in  $D_{x_0, t_0}(\varrho)$  of (2.1). Assume (2.2) holds. Then it exists  $\gamma = \gamma(c_0, \lambda, n) > 0$  such that*

$$(2.4) \quad \sup_{D_{x_0, t_0}^-(\varrho)} u(x, t) \leq \gamma \inf_{D_{x_0, t_0}^+(\varrho)} u(x, t) \quad \forall \varrho: D_{x_0, t_0}(\varrho) \subset Q.$$

**REMARK 2.1.** Theorem 2.1, and the following lemmas, will be proved only for a particular choice of  $D, D^+, D^-$  ( $\varrho = 1$ ).

To get (2.4) in its full generality it will be enough to perform a change of coordinates of the kind:

$$T: y = \varrho x + x_0, \quad \tau = \varrho^2 t + t_0.$$

Such a transformation takes  $D(1), D^+(1), D^-(1)$  into  $D(\varrho), D^+(\varrho), D^-(\varrho)$  while the equation (2.1) is changed in a similar equation for the unknown function  $v = u \circ T$ , and  $w(x)$  is changed in  $w \circ T$ . Obviously  $w \circ T \in A_2$ , with the same constant  $c_0$ . This, recalling that the constant  $\gamma$  in the statement of Theorem 2.1 (like the ones in the following Lemmas 2.1, 2.2, 2.3) depends only on  $c_0, n$  and  $\lambda$ , implies the validity of Theorem 2.1 in the general situation.

Let us remark in particular that the «doubling property» (see Remark 1.1) holds with the same constant  $d$  for all the weights  $w \circ T$ .



LEMMA 2.1. Let  $\frac{1}{2} \leq \varrho < r \leq 1$  and  $u$  be a positive solution of (2.1). Then it exists a constant  $k_1 = k_1(c_0, \lambda, n) > 0$  such that

$$(2.5) \quad \operatorname{ess\,sup}_{R(\varrho)} u(x, t) \leq k_1 \left( \frac{1}{(r - \varrho)^{n+2} w(B_0(1))} \int_{R(r)} (u(x, t))^p w(x) \, dx \, dt \right)^{1/p}$$

$\forall p \in ]0, 2\lambda[$ , and:

$$(2.5)' \quad \operatorname{ess\,sup}_{R^-(\varrho)} u(x, t) \leq k_1 \left( \frac{1}{(r - \varrho)^{n+2} w(B_0(1))} \int_{R^-(r)} (u(x, t))^p w(x) \, dx \, dt \right)^{1/p}$$

$\forall p \in ]-2\lambda, 0[$ .

LEMMA 2.2. Let  $u$  be a positive solution of (2.1) in  $D_{0,0}(1)$ . Then there are constants  $k_2 = k_2(c_0, n) > 0$  and  $a = a(c_0, n, u) > 0$  such that

$$(2.6) \quad w\{(x, t) \in R^+(1) : \log u(x, t) < -s + a\} + \\ + w\{(x, t) \in R^-(1) : \log u(x, t) > s + a\} \leq k_2 \frac{\lambda}{s} w(B_0(1)).$$

LEMMA 2.3. Let  $\mu, k_3$  and  $\theta \in [\frac{1}{2}, 1[$  be some positive constants. Let  $v$  be a positive function defined in a neighbourhood of  $Q(1)$  <sup>(3)</sup> such that

$$(2.7) \quad \operatorname{ess\,sup}_{Q(\varrho)} v \leq k_3 \left[ \frac{1}{(r - \varrho)^\mu w(Q(1))} \int_{Q(r)} v^p w(x) \, dx \, dt \right]^{1/p}$$

for all  $\varrho, r$  and  $p$  such that  $\frac{1}{2} \leq \theta \leq \varrho < r \leq 1, 0 < p < 2\lambda$ .

Moreover assume that

$$(2.8) \quad w\{(x, t) \in Q(1) : \log v > s\} \leq k_3 \frac{\lambda}{s} w(Q(1)), \quad \forall s > 0.$$

Then it exists a constant  $\gamma = \gamma(\theta, \mu, k_3, \lambda)$  such that

$$\sup_{Q(\theta)} v < \gamma.$$

Proof of LEMMA 2.1. We will get the conclusion for  $\varrho = \frac{1}{2}, r = 1$  only.

<sup>(3)</sup> Here  $Q(\varrho)$  can be indifferently  $R(\varrho), R^+(\varrho), R^-(\varrho)$ .

Using standard techniques (see e.g. [L.S.U.], p. 189 having in mind that one can assume  $u$  to be locally bounded for the results in [Ch.F.]) we get the inequality:

$$(2.9) \quad \sup_{1-e^2, e^2 \leq t} \int_{B_0(\varrho)} v^2 w \, dx + \int_{R(\varrho)} |Dv|^2 w(x) \, dx \, dt \leq \frac{k_4}{r-\varrho} \int_{R(r)} v^2 w(x) \, dx \, dt .$$

Here:  $\frac{1}{2} \leq \varrho < r \leq 1$ ,  $v = u^{p/2}$ ,  $p \in ]0, +\infty[ \setminus \{1\}$ ,  $k_4$  depends on  $\lambda$  and  $p$ . An application of LEMMA 1.2 to (2.9) yields:

$$\left( \frac{1}{\varrho^2 w(R_0(\varrho))} \int_{R(\varrho)} v^{2\bar{z}} w(x) \, dx \, dt \right)^{1/2\bar{z}} \leq k_5 \left( \frac{1}{r^2 w(B_0(r))} \int_{R(r)} v^2 w(x) \, dx \, dt \right)^{\frac{1}{2}}$$

where  $k_5$  depends on  $\lambda, p, n, c_0, r$  and  $\varrho$ .

The conclusion can be achieved as in [ $M_2$ ], p. 735. Let us only point out that it is possible to control the ratio  $w(B_0(1))/w(B_0(2))$  in terms of the constant  $d$  in the doubling property, hence in terms of  $c_0$  only.

Proof of LEMMA 2.2.

Let:

$$S_h \equiv u_h \equiv \frac{1}{h} \int_t^{t+h} u(x, s) \, ds \quad (h > 0) .$$

Then, with standard calculations, it is possible to derive the following inequality valid for all positive solutions in  $D(1)$

$$\int_{t_1}^{t_2} \int_{B_0(2)} \left\{ \sum_{i,j=1}^n S_h \left( a_{ij}(x) \frac{\partial u}{\partial x_i} \right) \frac{\partial [\psi^2(x)(u_h)^{-1}]}{\partial x_j} + \frac{\partial S_h u}{\partial t} \frac{1}{S_h u} \psi^2(x) w(x) \right\} dx \, dt = 0 .$$

Here  $\psi(x)$  is a Lipschitz continuous function compactly supported in  $B_0(2)$  and:  $-1 < t_1 < t_2 < 1$ .

We have:

$$\int_{t_1}^{t_2} \int_{B_0(2)} \left\{ \sum_{i,j=1}^n a_{ij}(x) S_h u_{x_i} 2\psi\psi_{x_j} \frac{1}{S_h u} - \sum_{i,j=1}^n a_{ij}(x) S_h u_{x_i} \psi^2 \frac{1}{(S_h u)^2} S_h u_{x_j} + \frac{\partial S_h u}{\partial t} \frac{1}{S_h u} \psi^2(x) w(x) \right\} dx \, dt = 0 .$$

Let:  $v_{(h)} = -\log(S_h u)$ . Then:

$$\int_{t_1}^{t_2} \int_{B_0(2)} \left\{ \sum_{i,j=1}^n a_{ij}(x) (v_{(h)})_{x_i} 2\psi\psi_{x_j} + \sum_{i,j=1}^n a_{ij}(x) (v_{(h)})_{x_i} (v_{(h)})_{x_j} \psi^2 + \frac{\partial v_{(h)}}{\partial t} \psi^2 w \right\} dx dt = 0.$$

From this it follows:

$$\begin{aligned} \frac{1}{\lambda} \int_{t_1}^{t_2} \int_{B_0(2)} \sum_{i=1}^n (v_{(h)})_{x_i}^2 \psi^2(x) w(x) dx dt + \left[ \int_{B_0(2)} v_{(h)} \psi^2 w dx \right]_{t=t_1}^{t=t_2} &\leq \\ &\leq \varepsilon \int_{t_1}^{t_2} \int_{B_0(2)} \psi^2 \sum_{i,j=1}^n a_{ij}(v_{(h)})_{x_i} (v_{(h)})_{x_j} dx dt + \frac{1}{\varepsilon} \int_{t_1}^{t_2} \int_{B_0(2)} \sum_{i,j=1}^n a_{ij}(x) \psi_{x_i} \psi_{x_j} dx dt. \end{aligned}$$

After a convenient choice of  $\varepsilon$ , and after taking  $\psi$  with convex level sets and such that  $0 \leq \psi \leq 1$ ,  $\psi(1) = 1$  in  $B_0(1)$  the last inequality together with LEMMA 1.3 yields

$$\begin{aligned} \left[ \int_{B_0(2)} v_{(h)}(x, t) \psi^2(x) w(x) dx \right]_{t=t_1}^{t=t_2} + k_6 \int_{D(1)} (v_{(h)}(x, t) - V_{(h)}(t))^2 \psi^2(x) w(x) dx dt &\leq \\ &\leq k_7 \left( \int_{B_0(2)} w(x) dx \right) (t_2 - t_1). \end{aligned}$$

Here  $k_6$  and  $k_7$  depend on  $\lambda$  ( $k_6$  on  $c_0$  too), and

$$V_{(h)}(t) = \frac{\int_{B_0(2)} v_{(h)}(x, t) \psi^2(x) w(x) dx}{\int_{B_0(2)} \psi^2(x) w(x) dx}.$$

The last estimate implies

$$\frac{V_{(h)}(t_2) - V_{(h)}(t_1)}{t_2 - t_1} + \frac{k_6}{d \int_{B_0(1)} w(x) dx} \cdot \frac{1}{t_2 - t_1} \int_{t_1}^{t_2} \int_{B_0(1)} (v_{(h)}(x, t) - V_{(h)}(t))^2 w(x) dx dt \leq k_7 d$$

from which, going to the limit for  $t_2$  approaching  $t_1$ , it is possible to get a relation similar to (4.7) in [M<sub>1</sub>].

From this, one gets (2.6) (with  $v_{(h)}$  in the place of  $\log u$ ) following the same argument of [M<sub>1</sub>].

Finally it is possible to get the conclusion letting  $h$  go to zero.

Proof of LEMMA 2.3. It is possible to suppose  $\lambda = 1$ . We let:

$$\varphi(\varrho) = \sup_{Q(\varrho)} \log v \quad \text{for } \varrho \in [\theta, 1[$$

We now split  $Q(r)$  ( $\theta \leq \varrho < r < 1$ ) in two subsets:

$$Q_1 = \{(x, t) \in Q(r) : \log v > \frac{1}{2} \varphi(r)\}$$

and

$$Q_2 = \{(x, t) \in Q(r) : \log v \leq \frac{1}{2} \varphi(r)\}.$$

So that

$$\int_{Q(r)} v^p w(x) dx dt = \int_{Q_1} + \int_{Q_2} \leq w(Q(1)) \left[ \exp [p \varphi(r)/2] + \exp [p \varphi(r)] \frac{2k_3}{\varphi(r)} \right]$$

Now a convenient choice of  $p$  gives:

$$\int_{Q(r)} v^p w(x) dx dt \leq 2 \exp \left[ \frac{p\varphi}{2} \right] w(Q(1))$$

so that:

$$\varphi(\varrho) < \frac{1}{p} \log \left( k_3 \frac{2 \exp [p\varphi/2]}{(r - \varrho)^\mu} \right).$$

From now on the proof is the same as the one of LEMMA 3 in [M<sub>1</sub>].

Proof of THEOREM 2.1. The theorem follows immediately from the LEMMAS 2.1, 2.2, 2.3 (see [M<sub>1</sub>]).

#### REFERENCES

- [C.S<sub>1</sub>] CHIARENZA F. - SERAPIONI R., *Degenerate Parabolic Equations and Harnack Inequality*, to appear in *Annali Mat. Pura e Appl.*  
 [C.S<sub>2</sub>] CHIARENZA F. - SERAPIONI R., *Harnack Inequality for Degenerate Parabolic Equations*, to appear in *Comm. in P.D.E.*

- [Ch.F.] CHIARENZA F. - FRASCA M., *Boundedness for the Solutions of a Degenerate Parabolic Equation*, to appear in *Applicable Analysis*.
- [Co.F.] COIFMAN R. - FEFERMAN C., *Weighted Norm Inequalities for Maximal Functions and Singular Integrals*, *Studia Math.*, **51** (1974), pp. 241-250.
- [F.K.S.] FABES E. - KENIG C. - SERAPIONI R., *The Local Regularity of Solutions of Degenerate Elliptic Equations*, *Comm. in P.D.E.*, **7** (1) (1982), pp. 77-116.
- [F.W.] FORD W. - WAID M., *On Maximum Principle for Some Degenerate Parabolic Operators*, *J. Math. Anal. Appl.*, **40** (1972), pp. 271-277.
- [L.S.U.] LADYŽENSKAJA O. - SOLONNIKOV V. - URAL'CEVA N., *Linear and Quasilinear Equations of Parabolic Type*, A.M.S., Providence (1968).
- [M<sub>1</sub>] MOSER J., *A Harnack Inequality for Parabolic Differential Equations*, *Comm. Pure Appl. Math.*, **17** (1964), pp. 101-134.
- [M<sub>2</sub>] MOSER J., *On a Pointwise Estimate for Parabolic Differential Equations*, *Comm. Pure Appl. Math.*, **24** (1971), pp. 727-740.
- [W<sub>1</sub>] WAID M., *Second Order Time Degenerate Parabolic Equations*, *Trans. A.M.S.*, **170** (1972), pp. 31-55.
- [W<sub>2</sub>] WAID M., *Strong Maximum Principle for Time Degenerate Parabolic Operators*, *SIAM J. Appl. Math.*, **26** (1974), pp. 196-202.

Manoscritto pervenuto in redazione il 24 marzo 1984.